HERIR I — & (ERRS04E3 A R B TH)

SRR 304E4 H 28 H HIAE
e T2 ST T WA A o
oy T R B - . ast
TR %ﬁﬂ; AR | BEERE | AT | ERER ’7:7:4 N Eﬂﬂ@i% FEﬁﬁMécunﬂ ]
TF JOS joes FR TR FE
Eara TSR
MFEHE 91 50 72 60 23 18 119 97 86 92 708
bl Ay B 80 43 55 56 12 16 110 76 62 80 590
e 80 43 55 56 12 14 110 76 62 80 588
kR 100.0% 100.0% 100.0% 100.0% 100.0% 87.5% 100.0% 100.0% 100.0% 100.0% 99.7%
HFEH 8 6 12 0 4 0 5 10 15 0 60
A Y e 2 1 2 2 1 0 3 3 6 12 32
] TEARFFERE AT ZERR L TR pen
(& L ARFR - 1 ) (s AR - 18 ) (P -FRAR) s
&ETHEK 29 6 4 39
mhIk AT 2 25 4 4 33
eSS 2 25 4 4 33
k=R 100.0% 100.0% 100.0% 100.0%
HEFFEL 2 1 0 3




